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Seating Arrangement Questions for SBI PO Pre, IBPS PO Pre, IBPS Clerk
Mains and SBI Clerk Mains Exams.

Set No 101

Directions: Study the following information carefully and answer the questions given beside.

Eight persons — Ankit, Kavit, Manit, Vinit, Charit, Sumit, Ganit, and Ronit are sitting in a straight line (but not
necessarily in the same order) such that three of them are facing south and rest of them are facing north. Each
of them works in a different bank — SBI, UCO, PNB, BOB, SEBI, RBI, BOI, and NHB (but not necessarily in same
order).

Four persons sit between Ronit and Charit, who works in RBI. Sumit sits right of Manit, who works in BOI.
Ganit and Charit face opposite direction to each other. The one, who is sitting on the immediate right of Vinit,
works in NHB. Kavit sits third from one of the extreme end of the row. Ronit sits third to the right of Manit.
The one who works in PNB sits immediate right of the one who works in UCO. Manit doesn’t face north
direction. Ganit is an immediate neighbor of Manit and Charit both. Vinit sits second to the right of Ganit.
Manit sits on the immediate left of Kavit. The one who works in SBI sits at an extreme end. The one who works
in BOB sits between Charit and Ankit. Sumit does not work in PNB.

1. Kavit works in which of the following banks?

A. UCO B. PNB C. SEBI D. NHB E. None of these

2. Which of the following combinations is correct?

A. Sumit — BOI — South B. Kavit — UCO - South C. Vinit — BOB — North
D. Ronit — NHB — North E. Ankit — SBI — South

3. How many person(s) sit between Charit and Sumit?

A. None B. One C. Two D. Three E. More than three

4. What is the position of the one who works in BOB with respect to the one who works in
PNB?

A. Third to the right B. Fourth to the left C. Fifth to the right
D. Fourth to the right E. None of these

5. Who among the following works in SEBI?

A. Ankit B. Kavit C. Vinit D. Sumit E. None of these

Correct Answers:
1 2 3 4 5
B C D B E




Common Explanations:

Reference:

Eight persons — Ankit, Kavit, Manit, Vinit, Charit, Sumit, Ganit, and Ronit are sitting in a straight line (but not
necessarily in the same order) such that three of them are facing south and rest of them are facing north. Each
of them works in a different bank — SBI, UCO, PNB, BOB, SEBI, RBI, BOI, and NHB (but not necessarily in same

order).

Inference:
We will keep this information in mind while solving the puzzle.

Reference:
Ronit sits third to the right of Manit.

Manit doesn’t face north direction.
Four persons sit between Ronit and Charit, who works in RBI.

Inference:
After using the above hints, we have:

| | | v | |
Ronit Manit Charit
REI
Reference:
Ganit is an immediate neighbor of Manit and Charit both.
Manit sits on the immediate left of Kavit.
Inference:
After using the above hints, we have:
| | | | | |
T4y v
Ronit Kavit Manit Ganit Charit
REI
Reference:
Kavit sits third from one of the extreme end of the row.
Vinit sits second to the right of Ganit.
Inference:
After using the above hints, we have:
| | | | A | |
| I v ¥ | |
Ronit Kavit Manit Ganit Charit Vinit

REI




Reference:
The one, who is sitting on the immediate right of Vinit, works in NHB.

Sumit sits right of Manit, who works in BOI.
Ganit and Charit face opposite direction to each other.

Inference:
After using the above hints, we have:

| | I I 4 I A I
| | ¥ ¥ I ¥ | |
Ronit Sumit Kavit Manit Ganit Charit Vinit
BOI REI NHE

As we know that only three of these persons are facing towards south direction so we can find out the
direction faced by the rest of these persons.

r S S I I S Y S
I | v ¥ | ¥ I I
Ronit Sumit Kavit Manit Ganit Charit Vinit
BOI REI NHE

Reference:
The one who works in SBI sits at an extreme end.

The one who works in BOB sits between Charit and Ankit.
The one who works in PNB sits immediate right of the one who works in UCO.

Sumit does not work in PNB.

Inference:
After using the above hints, we have:
A A | A ] A A
I I ¥ Y I ¥ | |
Ronit Sumit Kavit Manit Ganit Charit Vinit Ankit
SBI UCO PNB BOI REI BOB NHB
Here, we can say that Ganit works in SEBI.
A A || A | A A
I I ¥ Y I ¥ | |
Ronit Sumit Kavit Manit Ganit Charit Vinit Ankit
SBI UCO PNB BOlI SEEBI RBI BOB NHB




Answers :

1.

Following the final solution, we can say that Kavit works in PNB.

Hence, the correct answer is option B.

Following the final solution, we can say that Vinit — BOB — North is the correct combination.

Hence, the correct answer is option C.

Following the final solution, we can say that three persons sit between Charit and Sumit.

Hence, the correct answer is option D.

Following the final solution, we can say that the one who works in BOB is fourth to the left the one
who works in PNB.

Hence, the correct answer is option B.

Following the final solution, we can say that Ganit works in SEBI.

Hence, the correct answer is option E.
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